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He and they are executed — 29T T RIT

OVERVIEW

The 71wn teaches that if the two sets of 0¥ did not see each other (which makes
them two separate sets of 0>7V), if one set was an;77 the rule is that the perpetrator
and the P 0°7Y are executed by 72 (in a capital case). M2 explains why they
are executed and discusses the rules concerning the one who did the warning.
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The 1 079 are killed, even though the second (other) set was not 2171, since

they were 21177 and the two sets are considered separate sets. All the 2>7v of one set were N
therefore they are kllled
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The perpetrator is killed because of the second set of 27y who were not an7
(and testify that he committed a capital crime), for the second set of 2’7y was not
voided by the 12177 of the first set of 277V, since they are considered two separate
testimonies.

mooin digresses (slightly):
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There are those who explain that it is necessary that each set of M7V see the

710, or that the 79n» sees them -
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It is only then that the 7902 is combined with both sets of 2*7y; for if it was not
so (neither the 77n» nor the two sets of) 0°7v saw each other) the 79n» is not

combined with the o>7v and the perpetrator will not be killed by their testimony -
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For the accused is never killed, unless the 79n% is part of the m7» which come to
hold him liable.

mooIn responds to an anticipated question:
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And also this which the mwn states, if one set was found to be n»=21%, he and they
are killed, which seemingly indicates that only the (two) 0’7y were anm, but not the 77n». This
would contradict this which the o°w79n w° ruled that the 7702 must be part of the 0>7v, and so in
order for them to be on7, the 77n» also has to be ana. Moo replies that it is indeed so, when the
7Iwn states NN 1N DR KX¥M1 it means -

" This reason applies to the first rule (that the 1"y are killed) as well.
? According to the 0°wm9n w> the 77n» must also be one of the 27y who saw the accused commit the crime. If the
71nn merely warned him but did not see the crime the accused is released (however, the 7701 need not come to
testify [see footnote # 3]). In the case of 12X NX 2R PRIN 1N2PR PR (and one 7n3 was ani) the 77nn must see [or be
seen [at least] by] the n> which was not an.
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That also the 79n» was 217, together with this one n> for he is part of their

M7y, as I explained.
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But nevertheless (even though the 77n»n saw both 0°7¥ °n2 [or was seen by them]),
the two sets of 27 are considered two separate testimonies (in the X9°0) since
that one set did not see the other set.

mooIN cites an opposing view:
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And n''sw» (my master, may he live) has a difficulty with the ow"97 v°; what is

the 0°w197n W° saying that the 77N must see or be seen by both o7y *n3?!
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For on the contrary, our /mw» cannot be established unless the 27V do not see

the 7an», and also that the 79n% does not see the 2°7v -
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For if the 07V see the 0% or the 79n» sees the 0°7v, both sets of 0°7v will be

considered as one M7y -
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Even if the 0>7¥ do not see each other, for the 779n% combines both o7y °n> -
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As it is written in the X9 of the mw», when some of each set see each other

they are combinedsas one N7y -
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It is evident that we do not require that all the two from one window should

see the other two in the other window, but rather one 7V is sufficient, and here we
have one 7v who sees, or is seen by, both.

mdoIn has an additional question on the D>w1on w:
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And there is an additional difficulty according to their (the w51 w°)
explanation, that it is necessary that the 719n» be part of their n17y -

3 The X"w s asks if the 79 was ona how can the mwn state that the accused is executed (by the testimony of the
n> that was not any1). Seemingly there is no 77nn, for he was o7, and we require a 77702 (to be part of the o°7Y) in
order to execute the accused. The X"wann answers that the 0°7v (who were not oni7) saw someone being 77nn
(however they do not recognize him), so even though the known 7170 was ani (meaning that he was not even there)
we assume that there was another 77n» who was not the one who was o, w"»y. [It would seem from this X"wann
that it is not necessary for the 77nn to actually testify (see footnote # 2).] See ‘Thinking it over’ # 1.
* The plain meaning of 7% NX 17X 1"XI1N 1N¥PH means that one 7¥ from each N3 sees another 7v from the other n>.
However according to the o°wnon v~ it should be that the 717n» alone who sees, or is seen by, both sets of 0>7v should
be sufficient to combine them both, since according to the o°w9n w° the 77n7 is part of both 0°7v °n. See footnote # 5.
3 According to the o°w19n @ the 77nn is part of the M7v. The a*w15n W state; NMTYA 70T 19 OX RPR 2771 K O9wDT
12717 PRaw. If he is part of the M7y there is 178 DX 17X PRI JNEPR.
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For X2 state shortly in the X923 that the 7902 which they required to punish the
accused, is even if the 8077 came from the accused’s own mouth, or even from

a demon -
- Y55 1MTYN DINNN NN XY INT IN)

And then when the accused or a 7 is the 77nn, the 79n% is certainly not part of
their ny7v.

mooIn states the view of 11" wn:
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Therefore it seems to Md01n that we are certainly discussing a case where the

0>7v do not see the 7102 and the 779n% does not see the D;W.
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But rather both sets of 2°7v heard the 7°n» how he warned the accused, and

that is sufficient to punish the accused - ,
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For we are following the 1129 who argue with >0y '3, mentioned shortly, that

there is no need for two 2°7¥ to warn him by their mouth as "8 '3 maintains,
but rather it can be anyone (even XY 57 or 7w *On)

SUMMARY

According to the 2°w15n w° the 7707 must be part of the M7y, therefore in order for
the two 0°7¥ °n> to be combined it is necessary for the 77n» to see, or be seen by,
the two 0°7v °n3, besides that we require that it should also be 128 NX 12X X171 1n¥PA.
moon (" wn) disagrees and maintains that the 7701 need not be part of the M7y,
and if he sees or is seen by the 0*7¥ they are 77vE” even if 17X NX 19X PRI INXPH TR.

THINKING IT OVER

Can we ask on the o°w15n v (in addition to the question of the N"Wﬁm),g how can
we execute the accused (73771 oM X13), based on the testimony of the n3, which
was not an7, for since the 7707 1s considered as part of each nd, therefore there was
one 7Y (the 77n7) who was o177 from that n3, which is Yvan the entire’ MTy?!

2. According to n">wn, why is necessary for the 71w» to mention a 7nn?!"

® The n"a7 M amends this to read, *0 a2 15 7 nnw (instead of *ad_1921 12 7NAY)
" The n"27 Mt amends tis to read, * 112 X27 7037 (instead of * *y2 X9 TM017).
¥ See footnote # 3.
? See 71 11"7 'oIn [TIE footnote # 5].
' See X1 71"7 'on. According to the n", we need a 77n» to see both 2>y °n, because the 7902 must be part of the
m7y; however according to "wn why is it necessary to mention a 770n.
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